Test Booklet Code & Serial No.

TR FIT F FHE D

Paper-I11
SOCIOLOGY

Signature and Name of Invigilator Seat No.
1. (Signature) .....cccccevvvvevvvvvieeeeeeeeeeeeeeenn. (In figures as in Admit Card)
(NAIE) v SEAt NO. ..eeeiiiiiiiiee e
2. (Signature) .....ccccceeeeeeeecnieeeeee e, (In words)
(NAME) .o OMR Sheet No.

APR - 14217

Time Allowed : 1Y4 Hours]

(To be filled by the Candidate)
[Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(i) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

® e

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Sociology

Paper II

THSITE
goatent 11

Time Allowed : 75 Minutes]
Note

[Maximum Marks : 100

: This paper contains Fifty (50) multiple choice questions. Each question

carrying Two (2) marks. Attempt All questions.
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Who among the following founded
the Formalistic School ?

(A) Auguste Comte

(B) Herbert Spencer

(C) George Simmel

(D) Max Weber

Social change is a :

(A) Rare Phenomenon

(B) Economic Phenomenon

(C) Universal Phenomenon

(D) Psychological Phenomenon
According to Sir Herbert Risely,

caste system originated in India due
to :

(A) an artificial division
(B) Racial differences
(C) Religious duties

(D) Heredity
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Caste system iS .......ccccceereeennes in

nature.

(A) Contradiction

(B) Hierarchical

(C) Symmetrical

(D) Horizontal

Given below are two statements, one

is labelled as Assertion (A) and other

is as Reason (R) :

Assertion (A) : Institution has
some definite proceedings which are

formed on the basis of custom.

Reason (R) : Institution acts as a

means of controlling individuals.

Select the correct answer from the

codes given below :
Codes

(A) Both (A) and (R) are true and
(R) is the
explanation of (A)

not correct

(B) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(C) (A) is false but (R) is true
(D) (A) is true but (R) is false
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Given below are two statements, one
is labelled as Assertion (A) and other

is as Reason (R) :

Assertion (A) : The term race when
properly used signifies a biological

category.

Reason (R) : Connotation of the

term race is infact cultural.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) 1is not the correct

explanation of (A)

(B) Both (A) and (R) are true and
(R) is the correct explanation

of (A)
(C) (A) is false but (R) is true

(D) (A) is true but (R) is false
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According to the World Bank

Website there are five dimensions of
poverty. Which one of the following

is not been included ?
(A) Income Dimension
(B) Health Dimension
(C) Cultural Dimension
(D) Security Dimension

Given below are two statements, one
is labelled as Assertion (A) and other

is as Reason (R) :

Assertion (A) : Ascribed status are
those which are fixed for every
individual at birth.

Reason (R) : Such statuses cannot
be changed.

Select the correct answer from the
codes given below :

Codes :
(A) Both (A) and (R) are true and

(R) 1is not the correct

explanation of (A)
(B) Both (A) and (R) are true and

(R) is the correct explanation

of (A)
(C) (A) is false but (R) is true
(D) (A) is true but (R) is false
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10.

Given below are two statements, one
is labelled as Assertion (A) and other
is as Reason (R) :

Assertion (A) : Traditional values
of developing societies are changing
fast.

Reason (R) : Modern education
tends to estrange people from their
traditional moorings.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is not the correct
explanation of (A)

Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Which of the following are examples
of Adult Socialization ?

(z) Armed Forces Training

(B)

(z1) Mental Hospital Inmates
(zi1) Transfer to another city
(7v) Commando training centre

Select the correct answer from the
codes given below :

(A) (@) and (1)

(B) (), (@) and (iv)
(C) @), (1i) and (iv)
(D) (i) and (@iii)
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11. Emile Durkheim belongs to :

12.

13.

(A) Formalistic school
(B) Synthetic school
(C) Conflict school
(D) Specialistic school

Generally the term cultural-lag

refers to :
(A) Material culture
(B) Non-material culture

(C) Hiatus between material and

non-material culture
(D) Culture at a given point of time

In a simple society it was believed

that state was the :

(A) Product of force

(B) Divine origin

(C) Informal organisation

(D) Expansion of families

11.

12.

13.
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14. When

15.

16.

two persons form a

relationship, it is called :

(A) a societal relationship

(B) an associational relationship
(C) a dyadical relationship

(D) an institutional relationship

Which one of the following does not

imply membership ?

(A) Association

(B) Institution

(C) Community

(D) Secondary group

The main characteristic of society
is :

(A) Specific goals

(B) Mutual awareness

(C) Specific means

(D) Specific territory
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17.

18.

19.

Who coined the term symbolic

interactionism ?

(A) Margaret Mead
(B) C. H. Cooley
(C) Herbert Blumer
(D) George Simmel

According to whom there are
similarities between linguistic

system and kinship system :
(A) Levi-Strauss

(B) Radecliffe-Brown

(C) Malinowski

(D) S. F. Nadel

Who has

incorporated the

perspective of phenomenology and
ethnomethodology in his conflict
theory ?

(A) L. Coser
(B) R. Dahrendorf
(C) K. Marx

(D) R. Collins

17.

18.

19.

APR - 14217/11—D

YcehTcHeh STAXishaTdle &1 =il Shivll qa

el ?

(A) AFRE Hie
(B) ©. . Ha
(C) T =R
(D) Sifst fawa

IV T WTToeh SHaEel S0 STadsy
LA YA Y ?

(A) wE-wrE
(B) {SfRTm-sad
(C) Hfcrtersht
(D) TE. TH. Ted

T TQETamTed oA ST ieh-
TR a1 Ryed=l Sy ot
wHhell e ?

(A) T HER
(B) 3. SELASIh
(C) &. A

(D) 3R. wHifa

10



20.

21.

Who is of the opinion that “society
has two faces (conflict and consensus)
and therefore, sociological theory
should be divided into two parts—
conflict theory and consensus

theory” ?

(A) L. Coser

(B) R. Dahrendorf

(C) K. Marx

(D) R. Collins

Who developed the theory of social
structure in his book entitled,

‘Theory of Social Structure’ ?

(A) Malinowski

(B) Radecliffe-Brown

(C) Nadel

(D) Levi-Strauss

20.

21.
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22.

23.

Herbert Blumer has classified
objects into three. Which are they ?

(I) Physical

(IT) Abstract
(IIT) Social

(IV) Psychological

Select the correct answer using the
codes given below :

Codes :

(A) I, II and III

(B) I, IIT and IV
(C) II, III and IV
(D) I, II and IV

Mead identified four basic and inter-
related stages in the act :

(I) Impulse

(IT) Perception
(ITI) Manipulation
(IV) Consumption

Which is the correct sequence of the
above stages given by Mead ?

Select the correct answer from the
codes given below :

Codes :

(A) II, IV, I, III
(B) II, III, IV, I
(C) 11, III, I, IV
(D) I, II, III, IV
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24. Match List I with List IT and select

the correct answer from codes given

below :

List I
(a) Radecliffe-Brown
(b) Levi-Strauss
(¢) T. Parsons
(d) R. Merton

List II
(1) Structured social relationships
(2) Codification of functional analyis
(3) Binary opposition
(4) Action frame of reference
Codes :

(@ B © @

A @ 6 2 @
B @O @ 4) 3
<c @O B 4) (2

™ @ O 3 @
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25.

26.

Interest groups emerge out of the
quasi-groups under the proper

conditions which includes :

(I) Intra group communication
(IT) Freedom to organize

(ITI) Leadership

(IV) Infrastructure

Select the correct codes :

(A) I and II

(B) II, III and IV

(C) I, II and IV

(D) I, IT and III

Which of the following pairs is not

correctly matched ?

(A) Adaptation — Economy
(B) Goal attainment — Polity
(C) Integration — Law
(D) Latency — Hospital

(Pattern mainte-
nance and tension

management)

25.
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27.

28.

Who used the term understanding
or verstehen to identify the
difference in the subject matter
between social and natural
sciences ?

(A) Max Weber

(B) Pareto

(C) T. Parsons

(D) R. Merton

According to Weber the concept of

class is summarised as :

(A) Life chances

27.

28.
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30. Ethnography does not include :

31.

32.

33.

(A) Field notes

(B) Objective analysis

(C) Participant observation
(D) Value neutrality

Identify the measure of central

tendency to ordinal scale data :
(A) Mean

(B) Mode

(C) Median

(D) Geometric mean

In which method of research the

control group is generally required ?
(A) Case study method

(B) Experimental method

(C) Cluster method

(D) Snow-ball method

Identify a characteristic of scientific
method :

(A) Parsimony
(B) Complex
(C) Enhancement

(D) Debate

30.

31.

32.

33.
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34. What kind of meaning is not

35.

36.

assigned to bring objectivity in social

science ?

(A) Arbitrary
(B) Fixed

(C) Predicted
(D) Appropriate

Identify dominant scientific

paradigm of Auguste Comte :
(A) Subjectivism

(B) Objectivism

(C) Positivism

(D) Interpretivism

Choose the correct sequence in
presentation of table that is followed
in tabulation of data :

(I) Footnote

(IT) Source note

(IIT) Title

(IV) Body of the table
Codes :

A) I, II, III, IV

(B) III, 1V, I, II

(C) 11, III, IV, I

(D) 101, 11, I, IV

34.

35.

36.
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37.

38.

The analysis of the simultaneous

relationship among several

variables comes under :
(A) Univariate analysis
(B) Bivariate analysis
(C) Multivariate analysis

(D) Statistical analysis

Which one of the following

statements is not correct ?

(A) Consensus theories emphasize
shared norms and values as

fundamental to society

(B) Consensus theories see social
order as based on tacit

agreement

©)

Functionalism is one of the

consensus theories in sociology

(D)

For conflict theorist, society is

in a state of moving equilibrium

37.

38.

APR - 14217/I1—D
3R TAHE ThTa dedl AU Heer
foveo =

(A) TH=L fogetom
(B) fg=r forgeiom
(C) sig=R fargetsmo
(D) HEARTS fagetom

Tl HIvd faue aiex @ ?

(A) "o fagera st frame suftr

e AT ST JAYddel Haed

<

(B) W Togeia ArHIIeh aen Tfed

TR YR TR 219 HHdd

(C) THHERE & HHSRITE HdeRT
faguiaiisl T SR

(D) wo fRgEaRR= 7d 99 & Th

SEAd] FHAA STE 3
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39. According to Parsons, ‘adaptation

40.

b
refers to :

(A) The need for all societies to set
goals towards which social

activity is directed

(B) The relationship between the

system and its environment

(C) The coordination and mutual
adjustment of the parts of the

social system

(D) The maintenance of the basic
patterns of values institu-

tionalized in the society

For Ralf Dahrendorf :

(A) Every element in society
contributes to stability and

integration

(B)

The role of power is crucial in

maintaining order in society

©)

The cohesion in society is

created by shared social values

(D) All parts of society have

universal functions

39.

40.

APR - 14217/11—D

I AT T STeRe | 7 S i

Fd B

(A) TSI foram=n foxm <Iema A
Sfew fafyed 0 & od wHET
TS 3T

(B) =gaen o7for fau gafaRor gmeie
Ty

(C) THISTeh HeRIHe SeehT=l TH<d

T R HTHSTE

(D) THNITE Heefiehd Joar=an qrRna

ECICESRE

qeh LTS A=l Wd

(A) THNTAIA Tcdeh ek & affor
<l

o N

TehIcHAETS! IRTEH

(B) THISIAI o€l Sid hIvaTHE
ol fgent Mo sed

(C) THNIAIA Uehdaddl & 9raraeh

AR e TaR B

(D) FHNMA Td SR Jf¥aeh

SHdATd
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41. Match List I with List IT :

List I
(@) Bronislaw Malinowski
(6) Emile Durkheim
(¢) Levi-Strauss
(d) Radcliffe-Brown

List II
(1) Study of Australian aborigines
(2) Study of Nambikwara Indians
(3) Study of Trobriand Islands
(4) Study of Andaman Islands

Select the correct answer from the

codes given below :
Codes :

@ B ©© @
@ O @ 3 @
® & @O @ @
e @ & @O @

™ @ @ @O O

APR - 14217/11—D

41. I I o Iy II =1 Siredr oal

It 1
(@) STTET HfcTTerEent
(b) T gfem
(c) refi-%2rE
(d) TEiFah-sTe
T 11

(1) stefera emfcamsii=n 7w

(2) T Sfeaqm=T 1%y
(3) forares Semn 1wg

(4) STSHM SETET 37IH

Trell feoiean Fehais g a3t
faer
Hehdich :
@ B © @
Aa O @ @ @
B @& @O @ @
e @ & @O @

® @ @ @O O

20



42.

43.

44.

What indicates social status of an

individual ?
(A) His personal accomplishments

(B) His position in the social

structure of society
(C) His dignity
(D) His behaviour

Sigmund Freud found the untamed
passions and instinctive desires are

represented by :
(A) Self

(B) Ego

(C) Id

(D) Superego

Which of the following does not

indicate an association ?
(A) Cricket club

(B) Lions club

(C) Peer group

(D) Rotary club

42.

43.

44.

APR - 14217/11—D

SRl WHISTeh ST shid geifaar ?
(A) < AfFRT e

(B) 9MIfSer TlE-did Hede T

(C) == Hfdsar

(D) SHKITET SAIeh

e wiEe Il 319 3Teed, i A
ql{-""u a. ‘Q{U”('Hq') 5‘%9' q.l. ...................
J gyiferdrd.

A) =

(B) 3@H

C) =

D) sfi-3mg

T IV e HEes Jrad hid

e 2
(A) Torae Fad

(B) &I I

(C) THIIRET TG

(D) W FAd
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45.

46.

47.

The rule whereby the married couple
establishes their residence with the

bridegroom’s family is called :
(A) Neolocal residence

(B) Patrilocal residence

(C) Matrilocal residence

(D) Avanculocal residence

The book entitled “Economy and

Society” was written by :
(A) Levi-Strauss

(B) Max Weber

(C) S. F. Nadel

(D) Emile Durkheim

Gender as a concept does not

include :

(A) Natural propensities
(B) Social construct

(C) Cultural aspects

(D) Time and space context

45.

46.

47.

APR - 14217/11—D

=1 FaHgR foanfed Sed adi=an fea-

N o N
Al (A4l opjd, oAl % Jldld ¢

(A) TR e
(B) Tugeara eam

(C) HIgEar gam™

(D) AgeRATE oAy

" Syefeeree o WS # U <o ferfeen ?
(A) wet-wg

(B) W osR

(C) TH. Th. =

(D) THa grem

fomTe =1 Hehead Weleieh! i T
T ?

(A) i T

(B) wrifsh I

() HrEpfe e

(D) e M0 Hd oo
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48.

49.

50.

Who among the following stated that
sociology is the study of social facts

and not individuals ?
(A) Emile Durkheim
(B) George Simmel
(C) Max Weber

(D) Talcott Parsons

Changes in society, deriving from
whatever source, provide the basis

for :

(A) Progress

(B) Development
(C) Revolution
(D) Evolution

When a person is required to marry
the sister of his deceased wife, the

system is known as :
(A) Endogamy

(B) Exogamy

(C) Levirate

(D) Sarorate

48.

49.

50.

APR - 14217/11—D

THSIIE TUTS GrHTfSeh qeare STeae
AR, K™ @, ¥ @efietish! ol
B/ ?

(A) T giem
(B) SISl fooa
(C) He o
(D) 2Tkl TE=H

HIUTCATE] HIATIA HHST BI0R 95 §

HIMET SMER A ?
(A) 9Tt

(B) faerma

(C) it

(D) Ihicht

STegl Wehl JEoTall A=Al gd U=l
fguish foame et ST, o SHeden

(A) dfdaTe

(B) difgfdame

(C) ER-wresy foee
(D) Hgoft forame
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ROUGH WORK

24



